

St. Louis County, Minnesota



Date of Report: 5/11/2025 3:05:56 AM

			General De	tails					
Parcel ID:	141-0050-066	96							
Document:	Abstract - 901	108							
Document Date:	04/30/2003								
		Lee	gal Descriptio	on Details					
Plat Name:	HIBBING								
Section	То	wnship	R	ange	inge Lot Blo				
34		57		21	-		-		
Description:		R THENCE S 4				RT OF NW1/4 OF 0.10 FT TO N LINE			
			Taxpayer De	etails					
Taxpayer Name	HOCKING AR	MAND							
and Address:	3572 RAINEY	RD							
	HIBBING MN	55746							
			Owner Det	ails					
Owner Name	HOCKING AR	MAND							
Owner Name	HOCKING NIC	CHOLE							
		Paya	able 2025 Tax	Summary					
2025 - Net Tax					\$438.00				
2025 - Special A			Assessments			\$0.00			
	2025 - T	otal Tax &	Special Asses	ssments	\$438.00	<u>,</u>			
		Curren	t Tax Due (as	of 5/10/202	5)				
Due May	15	1	Due Octob	er 15		Total Due	9		
2025 - 1st Half Tax	\$219.00	2025 - 2	nd Half Tax	\$21	19.00 2025 -	2025 - 1st Half Tax Due \$219.0			
2025 - 1st Half Tax Paid		0 2025 - 2nd Half Tax Paid			60.00 2025 -	2025 - 2nd Half Tax Due			
2025 - 1st Half Due \$219.00 2025 - 2nd Half Due		nd Half Due	\$21	19.00 2025 -	2025 - Total Due				
			Parcel Det	ails	·				
Property Address:	3572 RAINEY	RD, HIBBING	MN						
School District:	701								
Tax Increment District:	-								
Property/Homesteader:	HOCKING, AF		MERSON, NICHO						
Class Code Ho	waataa d		nt Details (20	-	-	Def Dida	Not Tour		
	mestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201 1 - Owner (100.00%)	Homestead total)	\$24,700	\$64,800	\$89,500	\$0	\$0	-		
(100.00 %)	Total:		\$64,800	\$89,500	\$0	\$0	537		



St. Louis County, Minnesota



Date of Report: 5/11/2025 3:05:56 AM

			Land D	etails			
Deeded Acres:	5.90			oluno			
Waterfront:	-						
Nater Front Feet:	0.00						
Nater Code & Desc:	W - DRILLED WELL						
Gas Code & Desc:	-	-					
Sewer Code & Desc:	S - ON-SITE SANIT	ARY SYSTI	=M				
_ot Width:	0.00						
_ot Depth:	0.00						
•	e not guaranteed to be surv	ev quality. A	Additional lot	information can be	e found at		
https://apps.stlouiscountyn	nn.gov/webPlatslframe/frml	PlatStatPop	Up.aspx. If t	here are any quest	ions, please email PropertyT	ax@stlouiscountymn.gov	
	Ir	nprovem	ent 1 Det	ails (MBL HON	ME)		
Improvement Type	ype Year Built Main Flo		or Ft ² Gross Area Ft ²		Basement Finish	Style Code & Desc.	
MANUFACTURED HOME	1982	1,21	12	1,212	-	SGL - SGL WIDE	
Segment	Story	Width	Length	Area	Foundat	tion	
BAS	1	14	66	924	PIERS AND FO	DOTINGS	
BAS	1	16	18	288	FOUNDA	TION	
DK	1	0	0	252	POST ON GROUND		
DK	1	8	10	80	POST ON GROUND		
Bath Count	Bedroom Count	t	Room C	Count	Fireplace Count HVAC		
1 BATH	3 BEDROOMS	1S -		- CENTRAL, GAS			
		Improver	nent 2 De	tails (GARAG	E)		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc	
GARAGE	1980	1,02	20	1,020	-	DETACHED	
Segment	Story	Width	Length	Area	Foundat	tion	
BAS	1	30	34	1,020	FLOATING	SLAB	
	I	nprovem	ent 3 Det	ails (ATT. SHE	ED)		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc	
UTILITY	1980	24	0	240	-	-	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	12	20	240	POST ON GROUND		
LT	0	12	22	264	POST ON GROUND		
	In	provem	ent 4 Deta	ails (12X20 SH	ED)		
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc	
STORAGE BUILDING	1990	24	0	240	-	-	
Segment	Story	Width	Length	Area	Foundat	tion	
BAS	1	12	20	240	POST ON GROUND		
		Improve	ement 5 D	etails (8X8 ST)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc	
STORAGE BUILDING	0	64	Ļ	64	-	-	
Segment	Story	Width	Length	Area	Foundat	tion	
-	-		-	64	POST ON GI		







Date of Report: 5/11/2025 3:05:56 AM

		Improvem	ent 6 Details (FAB HOOP)					
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	Area Ft ² Base	Basement Finish Style Code &				
STORAGE BUILDIN	G 0	26	0	260	-		-		
Segmer	nt Story	w Width	Width Length Area		Foundation				
BAS	0	13	13 20 260		POST ON GROUND				
		Improve	ment 7 Details	(Tin shed)					
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	Area Ft ² Base	Basement Finish Style Code & Desc.				
STORAGE BUILDIN	G 0	80)	80					
Segmer	nt Story		Length	Area	Foundation				
BAS	1	8	10	80	POST ON GROUND				
		Improv	ement 8 Detai	ls (Shed)					
Improvement Type		Main Flo		area Ft ² Basement Finish		Style Code & Desc.			
STORAGE BUILDIN		90		90	-		-		
Segmer	-		Length	Area	Foundation				
BAS	1	9	10	90	POST ON GROUND				
	S	Sales Reported	to the St. Lou	is County Auditor					
Sal	e Date		Purchase Price		CRV	Number			
05	05/2003				152412				
		As	ssessment His	tory					
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
	201	\$26,000	\$66,900	\$92,900	\$0	\$0	-		
2024 Payable 2025	Total	\$26,000	\$66,900	\$92,900	\$0	\$0	557.00		
2023 Payable 2024	201	\$26,900	\$62,000	\$88,900	\$0	\$0	-		
	Total	\$26,900	\$62,000	\$88,900	\$0	\$0	597.00		
2022 Payable 2023	201	\$23,600	\$44,200	\$67,800	\$0	\$0	-		
	Total	\$23,600	\$44,200	\$67,800	\$0	\$0	407.00		
2021 Payable 2022	201	\$22,300	\$37,500	\$59,800	\$0	\$0	-		
	Total	\$22,300	\$37,500	\$59,800	\$0	\$0	359.00		
		1	ax Detail Histo	ory					
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Build MV		Taxable MV		
2024	\$634.00	\$0.00	\$634.00	\$18,053	\$41,608 \$59,6		\$59,661		
2023	\$446.00	\$0.00	\$446.00	\$14,160	\$26,520 \$40,		\$40,680		
2022	\$380.00	\$0.00	\$380.00	\$13,380	\$22,500	\$22,500 \$35,880			







Date of Report: 5/11/2025 3:05:56 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.